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Vertical Division with aHelper Grid

Name:

Solve each problem.

1)

3/455

4)

36632

7)

88897

2)

678

5)
8|1490

8)

8514250

3)

6)

9)

76456

62|18494

915968

Answers
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
) 1512 2 13 3) 6
3PE§§ GT?g 76Pﬁ§§ 1 151r2
3 6 0 » 13
15 18 45
15 18 0 d 6
05 0 456 . 17120
3 456
2 0 s 186r2
6. 137
;. 10r17
4) 17r20 5) 18612 6) 137
36[632 8/1490 62/8494 g 50
0 0 0
63 14 84 0. _ 65153
36 8 62
272 69 229
252 64 186
20 50 434
48 434
2 0
7) 10r17 8) 50 9) 65r53
88[897 854250 915968
0 0 0
89 42 59
88 0 0
17 425 596
0 425 546
17 00 508
0 455
0 53
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C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
50 10 r17 186 r2
151 r2 6 13 1
65 r53 17 r20 137
2,
1) 2) 3)

3l455 6|78 76456 3

4) 5) 6)

36(632 8|1490 62(8494 0.

7) 8) 9)

88897 854250 91/5968
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